20 bananas are shared equally among & monkeys.

How many bananas does each monkey get?

bananas




Ajay, Sam and Kemi have 4 conkers each. QO
How many conkers do they have altogether? ; o

conkers




Ben has 4 boxes of eggs.

Write a number sentence using X and = to show

that Ben has 24 eggs altogether.




Miss Smith needs 30 apples for her class.

There are 5 apples in each bag.

How many bags of apples does Miss Smith need altogether?

bags




One length of o swimming pool is 10 metres.

Abdul swims the length of the pool & times.

Abdul works out how many metres he swims altogether.

Circle the tweo calculations that Abdul can use.

10+ 4

4 x 10

10+ 10 + 10 + 10

L+ 4 +4+ 4



Here are some signs.

=

Write the correct sign in each box.

10+ 5

2 x 6

<

10 x 5

6+ 6



N

Sita puts 2 shoes in each of these boxes.

How many shoes are there altogether?

shoes




Amy plants & rows of carrots.

There are 3 carrots in each row.
A rabbit eats 2 of the carrots.

How many carrots are left?

Show

your
working

carrots




Write these numbers in order, starting with the smallest.

/73 37 76 36 63

L

smallest largest




Circle the two numbers that are even.

/3

64

58

43






30




B Here are two shape patterns.

Draw a shape in each empty box to make the

patterns correct.

XX >

> X




Write the two missing numbers in this pattern.

18




m Two of the numbers are in the wrong bag.

Draw a cross (X) on each of them.

.®

. ﬁ@’

_)

even numbers

e

)
odd numbers




Look at these numbers.

0 14

50

61

Write each number once to make these correct.




Fill in the missing numbers to make each pair of cards total 17

One pair is done for you.




Write six different numbers to make these sums correct.

27

+
|

+ = 27




The numbers on this number line go up by the same amount
each time.

Write the missing numbers in the boxes.




Write the missing number to make this number sentence correct.

@ + 7 - = 12




Complete these sums.

One is done for you.

33

10

40

80




Write two numbers to make this calculation correct.

+ =19

Now write three numbers to make this calculation correct.

+ + =19




Write the correct number in each box.

40 50

60



Lock at the number line.

Write the correct number in the box.

0 20




Amy writes an answer to the calculation below.

5/ -31 = 26

Mow write an addition to check Amy’s answer.

.|..




"9 ‘Write a digit in each box to make the sum correct.

4 + 8




Amy makes 20 cokes.
She shares the cokes between 5 plates.

Tick the calculation that shows how many
cokes are on each plate.

Tick one.

20+ 5=25

20-5=15

20+-5=4

20x 5=100




Ben and Sita count cars.

Ben counts 38 red cars.

Sita counts 23 blue cars.

How many cars do they count altogether?

cars




I have 9 shells.

[ have 3 more
shells than Abdul.

Abdul

How many shells does Amy have?

shells




Abdul has some toy cars.

He gives halft of them to Ben.

He has four toy cars left.

How many toy cars did Abdul start with?

toy cars




Look at these four fruits.

50p

Kemi buys three different fruits.

She spends exactly £1

Tick the three fruits that she buys.



Match the sums that have the same answer.

One is done for you.

20 + 8 30 + 28
50+ 8 /70 +18
80 + 8 10 + 18

20 + 8 50 + 48




Sam is collecting cards.

He wants to collect 100 cards altogether.

Last week he collected 50 cards.

This week he collects 30 cards.

How many meore cards does he need?

cards




Amy buys an ice-cream for $0p.




a There are 55 cakes.

20 boys and 19 girls each take a cake.

How many cakes are left?

—
Show

your
working

N~

cakes




m There are 76 cars in the car park.

18 more cars go into the car park.

Then 35 cars go out.

How many cars are in the car park now?

—
Show

your
working

| VI

cars




The strawberry weighs 24 grams.

The strawberry and tomato together weigh 69 grams.

What does the tomato weigh?




There are 20 balloons.
7 balloons fly away. ? ??

How many balloons are left?

balloons




Amy hos 21 counters altogether.

She has 14 counters in one hand.

How many counters does she have in the other hand?

counters




There are &0 crayens in a box.
Sam tokes 17 crayons.
Kemi takes 10 crayons.

How many croyons ore left?

crayons




Ben has 5 cherries.

He eats 28 of them.

How many cherries does he have left?

cherries




Amy plants & rows of carrots.

There are 3 carrots in each row.
A rabbit eats 2 of the carrots.

How many carrots are left?

Show

your
working

carrots




Sita has 50 raisins.

She gives 23 to Ben.

She gives 15 to Amy.

How many raisins does Sita have left?

J

/

o

Show
your
working

N

raisins




